
Física IV

19 outubro 2020 
Ótica geométrica 

A

B



Luz 
Hu

yg
en

s
16

90

Ne
w
to

n
17

04

18
02

Y
o
un

g

19
22

C
o
m

pt
o
n

19
25

He
is
en

be
rg

18
64

M
ax

w
el

l



Princípio de Fermat 

A

B

Minimiza o tempo



Princípio de Fermat 

↵

�

a

x b

d� x

n

A

B

Refração



Princípio de Fermat 

↵

�

a

x b

d� x

n

A

B

ΔtA =
a2 + x2

c

Refração



Princípio de Fermat 

↵

�

a

x b

d� x

n

A

B

ΔtB =
n b2 + (d − x)2

c

Refração

ΔtA =
a2 + x2

c



Princípio de Fermat 

↵

�

a

x b

d� x

n

A

B

ΔtB =
c

n b2 + (d − x)2

Δt = ΔtA + ΔtB

Refração

ΔtA =
a2 + x2

c



Princípio de Fermat 

↵

�

a

x b

d� x

n

A

B
Δt = ΔtA + ΔtB

dΔt
dx

= 2c( x

a2 + x2
− n

d − x

b2 + (d − x)2 )

Refração

ΔtA =
a2 + x2

c

ΔtB =
n b2 + (d − x)2

c



Princípio de Fermat 

↵

�

a

x b

d� x

n

A

B
Δt = ΔtA + ΔtB

dΔt
dx

= c( x

a2 + x2
− n

(d − x)

b2 + (d − x)2 ) = 0

Refração

ΔtA =
a2 + x2

c

ΔtB =
n b2 + (d − x)2

c



Princípio de Fermat 

↵

�

a

x b

d� x

n

A

B

x

a2 + x2
= n

d − x

b2 + (d − x)2

Refração

dΔt
dx

= 2c( x

a2 + x2
− n

d − x

b2 + (d − x)2 ) = 0



Princípio de Fermat 

↵

�

a

x b

d� x

n

A

B

x

a2 + x2
= n

d − x

b2 + (d − x)2

Refração

sin α = n sin(β)



Princípio de Fermat 

↵

�

a

x b

d� x

n

A

B

x

a2 + x2
= n

d − x

b2 + (d − x)2

Refração

sin α = n sin(β)

Snell-Descartes



Princípio de Fermat 

↵

�

a

x b

d� x

n

A

B

ΔtA =
c

a2 + x2

ΔtB =
c

n b2 + (d − x)2

Δt = ΔtA + ΔtB

dΔt
x

= 2c( x

a2 + x2
−

d − x

n b2 + (d − x)2 ) = 0

Refração



Princípio de Fermat 
Espelho plano 

A

B

B0



Princípio de Fermat 
Espelho esférico 

R

A BO



Princípio de Fermat 
Espelho esférico 

p
q

A BO



Princípio de Fermat 
Espelho esférico 

dB
R

✓

pA O



Princípio de Fermat 
Espelho esférico 

↵ dA
R

✓

R[1� cos(✓)]

pA O

↵ dA
R

✓

pA O

d2
B = R2 sin2 θ + (p − R(1 − cos θ))

2



Princípio de Fermat 
Espelho esférico 

d2
B = R2 sin2 θ + (p − R(1 − cos θ))

2

ΔtB =
dB

c

↵ dA
R

✓

pA O

↵ dA
R

✓

R[1� cos(✓)]

pA O



Princípio de Fermat 
Espelho esférico 

d2
B = R2 sin2 θ + (p − R(1 − cos θ))

2

ΔtB =
dB

c

dΔtB
dθ

=
−2R(p − R)sin θ

cp

↵ dA
R

✓

pA O

↵ dA
R

✓

R[1� cos(✓)]

pA O



Princípio de Fermat 
Espelho esférico 

d2
B = R2 sin2 θ + (p − R(1 − cos θ))

2

ΔtB =
dB

c

dΔtB
dθ

=
−2R(p − R)sin θ

cp

dΔtA
dθ

=
−2R(q − R)sin θ

cq

↵ dA
R

✓

pA O

dB

R[1� cos(✓)]

qBO



Princípio de Fermat 
Espelho esférico 

dΔtB
dθ

=
−2R(p − R)sin θ

cp

dΔtA
dθ

=
−2R(q − R)sin θ

cq

p
q

A BO

−2R sin θ( q − R
q

+
p − R

p ) = 0



dΔtB
dθ

=
−2R(p − R)sin θ

cp

dΔtA
dθ

=
−2R(q − R)sin θ

cq

p
q

A BO

−2R sin θ( q − R
q

+
p − R

p ) = 0

q − R
q

+
p − R

p
= 0

1
p

+
1
q

=
2
R⇒


